



Navn: _____

Dato: _____ Score: _____

$$(4 + \frac{1}{2})^2 - \frac{3}{5} + \frac{1}{5} \times 4^2 =$$

$$(3 + \frac{1}{4})^2 + \frac{3}{2} - \frac{3}{5} \times 2^2 =$$

$$(\frac{3}{5} + \frac{3}{2})^2 - \frac{1}{2}(\frac{1}{5} - (\frac{1}{6})^2) =$$

$$(2 - \frac{1}{3})^2 - \frac{3}{4} - \frac{1}{4} - 3^2 =$$

$$((\frac{2}{3})^2 - \frac{1}{2}) \times \frac{2}{5} - (\frac{1}{2} - \frac{3}{5})^2 =$$

$$(\frac{1}{2} + \frac{3}{2})^2 + \frac{2}{3}(\frac{1}{4} - (\frac{1}{3})^2) =$$

$$(\frac{1}{2} + (\frac{1}{5})^2) \times \frac{1}{6} + (\frac{2}{3} - \frac{1}{6})^2 =$$

$$(\frac{1}{3} - \frac{2}{3})^2 + \frac{1}{4}(\frac{1}{3} - \frac{1}{5}) =$$

$$(\frac{1}{6} + (\frac{1}{2})^2) \times \frac{3}{4} + (\frac{1}{3} - \frac{3}{4})^2 =$$

$$((\frac{1}{2})^2 - \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{3} - \frac{1}{2})^2 =$$



Navn: _____

Dato: _____ Score: _____

$$(4 + \frac{1}{2})^2 - \frac{3}{5} + \frac{1}{5} \times 4^2 = \frac{457}{20} = 22\frac{17}{20}$$

$$(3 + \frac{1}{4})^2 + \frac{3}{2} - \frac{3}{5} \times 2^2 = \frac{773}{80} = 9\frac{53}{80}$$

$$(\frac{3}{5} + \frac{3}{2})^2 - \frac{1}{2}(\frac{1}{5} - (\frac{1}{6})^2) = \frac{7783}{1800} = 4\frac{583}{1800}$$

$$(2 - \frac{1}{3})^2 - \frac{3}{4} - \frac{1}{4} - 3^2 = (-\frac{65}{9}) = (-7\frac{2}{9})$$

$$((\frac{2}{3})^2 - \frac{1}{2}) \times \frac{2}{5} - (\frac{1}{2} - \frac{3}{5})^2 = (-\frac{29}{900})$$

$$(\frac{1}{2} + \frac{3}{2})^2 + \frac{2}{3}(\frac{1}{4} - (\frac{1}{3})^2) = \frac{221}{54} = 4\frac{5}{54}$$

$$(\frac{1}{2} + (\frac{1}{5})^2) \times \frac{1}{6} + (\frac{2}{3} - \frac{1}{6})^2 = \frac{17}{50}$$

$$(\frac{1}{3} - \frac{2}{3})^2 + \frac{1}{4}(\frac{1}{3} - \frac{1}{5}) = \frac{13}{90}$$

$$(\frac{1}{6} + (\frac{1}{2})^2) \times \frac{3}{4} + (\frac{1}{3} - \frac{3}{4})^2 = \frac{35}{72}$$

$$((\frac{1}{2})^2 - \frac{1}{2}) \times \frac{1}{2} - (\frac{1}{3} - \frac{1}{2})^2 = (-\frac{11}{72})$$